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Appendix 4D
Analysis of Financial Accounting Data
QUESTIONS
1.
Why is it possible to talk of a “rule-of-thumb” number, such as 2.0, for the current ratio, but not have a comparable rule-of-thumb number for the times interest earned ratio?  Some ratios describe conditions that are common to many organizations and do not depend very much on the nature of the company.  For example, all companies require adequate liquidity.  A company with a current ratio of 2.0 most likely has a good degree of liquiditySYMBOL 190  \f "Symbol"not so lnot so little that it will have trouble paying its obligations and not so much that it has underused current assets.  Other ratios describe conditions that vary significantly from company to company due to the industries they are in, the technologies they use, or the markets they serve.  For example, a company's stability of cash flows is an important determinant of an adequate times interest earned ratio.  Stable companies can afford a low value of the ratio, while a much higher value would be appropriate for companies with highly variable cash flows.

2.
If the value of one of a firm's ratios is cut in half, can we be sure that the firm's condition has improved?  No.  While a decrease in some ratios indicates improvement (collection period is an example), this is not true for ratios in general. For many ratios, higher is better (for example, inventory turnover).  Still other ratios, such as the current ratio, indicate a worsened condition if they go in either direction from an accepted central value.

3.
Which ratios would be of most interest to:  Since financial ratios can provide insights into a company's health and financial results, each of these groups would be interested in all financial ratios.  However, it is reasonable that each group would be particularly interested in the ratios that most directly reflected their interests.  (Note that much of what these stakeholders are interested in is not measured by financial data, hence cannot easily be reduced to financial ratios.)


a.  Managers?  Ratios such as asset utilization, that describe their area of responsibility.


b.  Customers?  Ratios that point toward the company's ability to continue to produce, service, and improve its products and services.


c.  Shareholders?  Ratios that point toward financial results, such as profitability, financing choice, and market value.


d.  Creditors?  Ratios that measure the company's amount of and ability to service debt.


e.  Employees?  Ratios, such as profitability, that point toward the company's ability to provide wages and employee benefits.


f.  Governments?  Ratios, such as profitability, that point toward the company's long term health and ability to provide jobs and pay taxes.


g.  Neighbors?  Ratios, such as profitability, that point toward the company's ability to contribute toward the community.

4.
Why do industries that have low total asset turnover ratios tend to have high net profit margins and vice versa?  Companies with a low total asset turnover ratio require a large amount of physical resources to generate each dollar of sales.  This means they are not very profitable per dollar invested.  They tend to have fewer competitors than companies in industries with easier and cheaper entry and can mark up their products to restore their profitability.  Companies with a high total asset turnover ratio are those that require few physical assets for each sales dollar.  Entry to these industries is easy and competition usually intense leading to low profit margins.  Since return on assets is the product of these two ratios, market forces tend to keep them in balance, so all firms can produce a reasonable rate of return regardless of their needed commitment to assets.

5.
What would be the effect of inflation on ratios?  How would an analyst take inflation into account in interpreting ratios?  Inflation tends to increase income statement amounts year-by-year.  New plant and equipment enters the books at ever higher prices each year while existing fixed assets do not reflect the price changes, continuing to be recorded at their historical costs (less depreciation).  The result is a systematic change to the numbers used to calculate ratios and the potential for distortions in time-series and cross-sectional comparisons.  While many financial analysts ignore the issue, assuming that the effect of inflation is the same on all companies, sophisticated analysts attempt to separate changes caused by inflation from changes due to an underlying strengthening or weakening of the company itself.

6.
Why are common size financial statements used for financial analysis instead of the actual statements themselves?  Common size financial statements put all numbers in context, since the act of producing them involves calculating a ratio for each number on the statements.  Without common sizing the statements, it is difficult to attach meaning to the numbers or to pick up trends.

7.
Why might an analyst pay more attention to average balance values in looking at a seasonal or growing firm than when studying a firm that remains constant throughout the year?  Many ratios involve comparison of income statement and balance sheet numbers.  However, there is a natural incompatibility between these numbers since the income statement describes the entire year while the balance sheet is a snapshot taken at one point in time.  If a firm is seasonal or growing, its balance sheet numbers will change throughout the year, and the numbers taken at one time point may not accurately reflect the firm's use of assets or financing for the entire year.  By averaging balance sheet values, an analyst can produce more representative numbers to compare against figures from the income statement.

8.
Is the fixed asset turnover ratio more relevant in the analysis of McDonald's Corporation or General Motors Corporation?  Why?  The fixed asset turnover ratio is more relevant in analyzing GM, since it is more capital intensive than McDonald's.  However, McDonald's does use fixed assets to produce and sell its products and the ratio is relevant to analyzing that company as well.  In general, the relevance (and validity) of this ratio is a function of the role played by fixed assets in the company's activities.  For a company with few fixed assetsSYMBOL 190  \f "Symbol"for examfor example, an accountant who works at homeSYMBOL 190  \f "Symbol"this ratthis ratio becomes meaningless.

PROBLEMS
SOLUTION SYMBOL 45 \f "Symbol" PROBLEM PROBLEM 4DSYMBOL 45 \f "Symbol"1

(a)
G1

Gross profit margin
=
gross profit



     sales



=
$16,722



$37,611



=
  .4446
=
44.46%
(b)
Operating profit margin
=
EBIT



sales



=
 $3,664




$37,611



=
  .0974
=
9.74%
(c)
Pre-tax profit margin
=
earnings before taxes




   sales



=
 $2,264




$37,611



=
  .0602
=
6.02%
(d)
Net profit margin
=
earnings after taxes




   sales



=
 $1,472




$37,611



=
  .0391
=
3.91%
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(a)
(2

(a)
(1)
Gross profit margin  =  60% means




Gross profit
=
60% of sales
=
60%($500,000)





=
$300,000


(2)
Operating profit margin  =  27% means




EBIT
=
27% of sales
=
27%($500,000)





=
$135,000


(3)
Pre-tax profit margin  =  14% means




EBT
=
14% of sales
=
14%($500,000)




=
$70,000

Therefore:

      Steps
     


  Sales
$500,000
SYMBOL 129 \f "Wingdings"  Given


 Cost of goods sold
  200,000
SYMBOL 172 \f "Symbol"—————————┐

   Gross profit
  300,000
SYMBOL 130 \f "Wingdings"  From (1) above
│

 Operating expenses
  165,000
SYMBOL 172 \f "Symbol"—————————
│

   EBIT
  135,000
SYMBOL 131 \f "Wingdings"  From (2) above
│

 Interest expense
    65,000
SYMBOL 172 \f "Symbol"—————————
│

   EBT
    70,000
SYMBOL 132 \f "Wingdings"  From (3) above
│

 Tax expense
    24,500
SYMBOL 133 \f "Wingdings"  35%(70,000)
│

   EAT
$  45,500
SYMBOL 135 \f "Wingdings"  Subtraction
│





┐
│




SYMBOL 134 \f "Wingdings"
Back in to 
│
│





these numbers
│¯¯¯¯



┘
 (b)

Net profit margin
=
earnings after taxes




sales



=
 $45,500




$500,000



=
.0910
=
9.10%
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The r3

The ratios are:


Basic earning power
=

EBIT



average total assets


Return on assets (ROA)
=
earnings after taxes


average total assets


Return on equity (ROE)
=
earnings after taxes


average total equity

Since the firm uses equal amounts of liabilities and equity, ½ of assets are financed by each, and average total equity = ½ average total assets.

(a)
Average total equity  =  ½($5,000)  =  $2,500



Basic earning power
=
$3,664
=
.7328
=
73.28%




$5,000



ROA
=
$1,472
=
.2944
=
29.44%




$5,000



ROE
=
$1,472
=
.5888
=
58.88%




$2,500

(b)
Average total equity  =  ½($15,000)  =  $7,500



Basic earning power
=
 $3,664 
=
.2443
=
24.43%




$15,000



ROA
=
 $1,472 
=
.0981
=
9.81%




$15,000



ROE
=
$1,472
=
.1963
=
19.63%




$7,500

(c)
Average total equity  =  ½($25,000)  =  $12,500



Basic earning power
=
 $3,664 
=
.1466
=
14.66%




$25,000



ROA
=
 $1,472 
=
.0589
=
5.89%




$25,000



ROE
=
 $1,472 
=
.1178
=
11.78%




$12,500

(d)
Average total equity  =  ½($35,000)  =  $17,500



Basic earning power
=
 $3,664 
=
.1047
=
10.47%




$35,000



ROA
=
 $1,472 
=
.0421
=
4.21%




$35,000



ROE
=
 $1,472 
=
.0841
=
8.41%




$17,500

Note that the extended du Pont equation tells us that ROE  =  ROA
×
Assets

Equity

In this case, with ½ of assets financed with equity,
Assets
=
2


Equity


and
ROE  =  ROA × 2

Check the solutions above to verify that ROE equals twice ROA in each case!
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The s4

The strategy is to begin with the sales figure and work your way through the ratios:

(a)
Using:  operating profit margin
=
EBIT



Sales



.22
=
     EBIT





$2,500,000



EBIT
=
.22($2,500,000)
=
$550,000
(b)
Using:  net profit margin
=
earnings after taxes


Sales



.065
=
     EAT





$2,500,000



EAT
=
.065($2,500,000)
=
$162,500
(c)
Using:  return on assets
=
earnings after taxes


average total assets



.09
=
       $162,500





average total assets



average total assets
=
$162,500
=
$1,805,556





.09

(d)
Using:  return on equity
=
earnings after taxes


average total equity



.14
=
       $162,500





average total equity



average total equity
=
$162,500
=
$1,160,714





.14
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The r5

The ratios are:


Current ratio
=
 current assets





current liabilities


Quick ratio
=
   quick assets





current liabilities

Subtract inventory from current assets to get quick assets:


quick assets
=
$47,000 – $8,000  =  $39,000

(a)
Current ratio
=
$47,000
=
4.7 times



$10,000


Quick ratio
=
$39,000
=
3.9 times



$10,000

(b)
Current ratio
=
$47,000
=
1.9 times



$25,000


Quick ratio
=
$39,000
=
1.6 times



$25,000

(c)
Current ratio
=
$47,000
=
1.2 times



$40,000


Quick ratio
=
$39,000
=
.98 times



$40,000

(d)
Current ratio
=
$47,000
=
.78 times



$60,000


Quick ratio
=
$39,000
=
.65 times



$60,000
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(a)
C6

Current ratio
=
 current assets





current liabilities



1.85
=
    $125,000




current liabilities


current liabilities
=
$125,000
=
$67,568



1.85

(b)
Quick ratio
=
   quick assets





current liabilities



1.18
=
quick assets



   $67,568


quick assets
=
1.18($67,568)
=
$79,730
(c)
Current assets – inventory
 =
quick assets


$125,000 – inventory
  =  $79,730


Inventory
=
$125,000 – 79,730




=
$45,270
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The r7

The ratios are:


Current ratio
=
 current assets





current liabilities


Quick ratio
=
   quick assets





current liabilities

Subtract inventory from current assets to get quick assets.

(a)
Quarter 1

Quick assets
=
$16,000 SYMBOL 45 \f "Symbol" 4,000
=
4,000  =  $12,000


Current ratio
=
$16,000
=
1.6 times



$10,000


Quick ratio
=
$12,000
=
1.2 times



$10,000


Quarter 2

Quick assets
=
$13,500 SYMBOL 45 \f "Symbol" 10,000
 10,000  =  $3,500


Current ratio
=
$13,500
=
.90 times



$15,000


Quick ratio
=
 $3,500 
=
.23 times



$15,000

Quarter 3

Quick assets
=
$19,500 SYMBOL 45 \f "Symbol" 6,000
=
6,000  =  $13,500


Current ratio
=
$19,500
=
1.6 times



$12,000


Quick ratio
=
$13,500
=
1.1 times



$12,000


Quarter 4

Quick assets
=
$13,000 SYMBOL 45 \f "Symbol" 2,000
=
2,000  =  $11,000


Current ratio
=
$13,000
=
2.2 times



$6,000


Quick ratio
=
$11,000
=
1.8 times



$6,000

This is a seasonal firm.  From the pattern of the balance sheet numbers, it builds up inventory in Quarter 2, sells on credit in Quarter 3 (AR is well up), and collects its receivables in Quarter 4 (cash and marketable securities have replaced receivables).

(b)
The working capital ratios are the strongest in Quarter 4, after the company has completed its seasonal cycle and has returned to “rest.” At this time it is the most liquid.

(c)
The working capital ratios are the weakest in Quarter 2.  At this time, the firm has used up its cash, and increased its current liabilities, to buy/produce inventory.  At this time it is the most illiquid.

(d)
Quarter 2 – The exposure here is the high inventory balance, and the risk is that of perishibility or not being able to sell the inventory except for scrap value.


Quarter 3 – The exposure here is the high accounts receivable balance, and the risk is that of uncollectable accounts (credit risk).
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Firs8

First Qtr
Second Qtr.
Third Qtr.
Cash
—
—
$70,000

Accounts receivable
—
$70,000
—

Other current assets
$15,000
  15,000
  15,000

Quick assets
  15,000
  85,000
  85,000

Inventory
  50,000
           0
           0

Current assets
$65,000
$85,000
$85,000


Current liabilities
$40,000
$40,000
$40,000
(a)
First quarter

Current ratio
=
 current assets





current liabilities



=
$65,000
=
1.6 times



$40,000


Quick ratio
=
   quick assets





current liabilities



=
$15,000
=
0.4 times



$40,000

(b)
Second quarter

Current ratio
=
$85,000
=
2.1 times



$40,000


Quick ratio
=
$85,000
=
2.1 times



$40,000

(c)
Third quarter

Current ratio
=
$85,000
=
2.1 times



$40,000


Quick ratio
=
$85,000
=
2.1 times



$40,000

(d)
The improvement in the current ratio from the first to second quarter is due solely to the $20,000 of profit appearing on the books.  This raises current assets from $65,000 to $85,000.  The composition of the assets does not affect the current ratio.


Seasonality accounts for the remaining improvement in the quick ratio since the numerator goes up by $70,000SYMBOL 190 \f "Symbol"$20,000 from booking profit, and $50,000 from the seasonal movement of resources from inventory to accounts receivable.


Note that the ratios do not change from the second to third quarters.  Collection of accounts receivable does not affect these ratios.
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The r9

The ratios are:


AR turnover
=
 credit sales




average AR


Collection period
=
average AR
×
360



credit sales

Since 20% of sales are for cash, 80% of sales are on credit terms.  Thus:


Credit sales  =  80%($5,000,000)  =  $4,000,000

(a)
AR turnover
=
$4,000,000
=
16 times



  $250,000


Collection period
=
  $250,000 
×
360
=
22.50 days



$4,000,000

(b)
AR turnover
=
$4,000,000
=
8 times



  $500,000


Collection period
=
  $500,000 
×
360
=
45 days



$4,000,000

(c)
AR turnover
=
$4,000,000
=
5.33 times



  $750,000


Collection period
=
  $750,000 
×
360
=
67.50 days



$4,000,000

(d)
AR turnover
=
$4,000,000
=
4 times



$1,000,000


Collection period
=
$1,000,000
×
360
=
90 days



$4,000,000
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The 10

The ratios are:


AR turnover
=
 credit sales




average AR


Collection period
=
average AR
×
360



credit sales

(a)
Credit sales  =  50%($9,000,000)  =  $4,500,000


AR turnover
=
$4,500,000
=
9 times



  $500,000


Collection period
=
  $500,000 
×
360
=
40 days



$4,500,000

(b)
Credit sales  =  75%($9,000,000)  =  $6,750,000


AR turnover
=
$6,750,000
=
13.50 times



  $500,000


Collection period
=
  $500,000 
×
360
=
26.67 days



$6,750,000

(c)
Credit sales  =  90%($9,000,000)  =  $8,100,000


AR turnover
=
$8,100,000
=
16.20 times



  $500,000


Collection period
=
  $500,000 
×
360
=
22.22 days



$8,100,000

(d)
Credit sales  =  100%($9,000,000)  =  $9,000,000


AR turnover
=
$9,000,000
=
18 times



  $500,000


Collection period
=
  $500,000 
×
360
=
20 days



$9,000,000
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The 11

The ratios are:


Inventory turnover
=
cost of goods sold




 average inventory


Inventory days
=
average inventory 
×
360



cost of goods sold

(a)
Inventory turnover
=
$100,000
=
1 time



$100,000


Inventory days
=
$100,000
×
360
=
360 days



$100,000

(b)
Inventory turnover
=
$100,000
=
2 times



$  50,000


Inventory days
=
$  50,000
×
360
=
180 days



$100,000

(c)
Inventory turnover
=
$100,000
=
10 times



$  10,000


Inventory days
=
$  10,000
×
360
=
36 days



$100,000

(d)
Inventory turnover
=
$100,000
=
100 times



$  1,000


Inventory days
=
$  1,000  
×
360
=
3.60 days



$100,000
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The ratios are:


Inventory turnover
=
cost of goods sold




 average inventory


Inventory days
=
average inventory 
×
360



cost of goods sold

(a)
5
=
    $2,500,000





average inventory


average inventory
=
$2,500,000
=
$500,000

5

(b)
60
=
average inventory
×
360



    $2,500,000


average inventory
=
60 × $2,500,000
=
$416,667

360

(c)
15
=
    $2,500,000





average inventory


average inventory
=
$2,500,000
=
$166,667

15

(d)
5
=
average inventory
×
360



    $2,500,000


average inventory
=
5 × $2,500,000
=
$34,722

360

SOLUTION SYMBOL 45 \f "Symbol" PROBLEM 4DSYMBOL 45 \f "Symbol"13

The ratios are:


Accounts payable turnover
=
             purchases





 average accounts payable


Payables period
=
average accounts payable 
×
360



purchases

(a)
Accounts payable turnover
=
$60,000
=
20 times

$3,000


Payables period
=
 $3,000 
×
360
=
18 days

$60,000

(b)
Accounts payable turnover
=
$60,000
=
10 times

$6,000


Payables period
=
 $6,000 
×
360
=
36 days

$60,000

(c)
Accounts payable turnover
=
$60,000
=
6 times

$10,000


Payables period
=
$10,000
×
360
=
60 days

$60,000

(d)
Accounts payable turnover
=
$60,000
=
3 times

$20,000


Payables period
=
$20,000
×
360
=
120 days

$60,000
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The ratios are:


Accounts payable turnover
=
             purchases





average accounts payable


Payables period
=
average accounts payable
×
360



purchases

(a)
10
=
           $400,000



average accounts payable


average accounts payable
=
$400,000
=
$40,000

10

(b)
45
=
average accounts payable
×
360

          $400,000


average accounts payable
=
45 × $400,000
=
$50,000

360

(c)
20
=
           $400,000



average accounts payable


average accounts payable
=
$400,000
=
$20,000

20

(d)
10
=
average accounts payable
×
360

          $400,000


average accounts payable
=
10 × $400,000
=
$11,111

360
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Cash conversion cycle  =  inventory days + collection period – payables period

(a)
Cash conversion cycle
=
15 + 0 – 30
=
–15 days

(The firm gets the use of money, rather than ties up its money, for 15 days)

(b)
Cash conversion cycle
=
15 + 18 – 30
=
3 days
(c)
Cash conversion cycle
=
15 + 30 – 30
=
15 days
(d)
Cash conversion cycle
=
15 + 60 – 30
=
45 days
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Cash conversion cycle  =  inventory days + collection period – payables period

If inventory turnover  =  8 times, then


inventory days  =  1/8 × 360  =  45 days

and if accounts payable turnover  =  12 times, then


payables period  =  1/12 × 360  =  30 days

(a)
Accounts receivable turnover  =  3 times

collection period  =  1/3 × 360  =  120 days


Cash conversion cycle
=  45 + 120 SYMBOL 45 \f "Symbol" 30
=
135 days

(b)
Accounts receivable turnover  =  8 times

collection period  =  1/8 × 360  =  45 days


Cash conversion cycle
=  45 + 45 SYMBOL 45 \f "Symbol" 30
=
60 days
(c)
Accounts receivable turnover  =  12 times

collection period  =  1/12 × 360  =  30 days


Cash conversion cycle
=  45 + 30 SYMBOL 45 \f "Symbol" 30
=
45 days
(d)
Accounts receivable turnover  =  30 times

collection period  =  1/30 × 360  =  12 days


Cash conversion cycle
=  45 + 12 SYMBOL 45 \f "Symbol" 30
=
27 days
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The ratios are:


Fixed asset turnover
=
           sales





average fixed assets


Total asset turnover
=
           sales





average total assets

With 40% of assets current, the other 60% are "fixed," and


average fixed assets  =  60%($100,000)  =  $60,000

(a)
Fixed asset turnover
=
$100,000
=
1.67 times



 $60,000


Total asset turnover
=
$100,000
=
1 time



$100,000

(b)
Fixed asset turnover
=
$250,000
=
4.17 times



 $60,000


Total asset turnover
=
$250,000
=
2.5 times



$100,000

(c)
Fixed asset turnover
=
$500,000
=
8.33 times



 $60,000


Total asset turnover
=
$500,000
=
5 times



$100,000

(d)
Fixed asset turnover
=
$1,000,000
=
16.67 times



  $60,000


Total asset turnover
=
$1,000,000
=
10 times



  $100,000
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The ratios are:


Fixed asset turnover
=
           sales





average fixed assets


Total asset turnover
=
           sales





average total assets

(a)
6.5
=
     $1,000,000




average fixed assets


average fixed assets
=
$1,000,000
=
$153,846

6.5


4.2
=
     $1,000,000




average total assets


average total assets
=
$1,000,000
=
$238,095

4.2


Current assets
=
total assets SYMBOL 45 \f "Symbol" fixed assets



=
$238,095 SYMBOL 45 \f "Symbol" 153,846
=
$84,249
(b)
6.5
=
     $2,000,000




average fixed assets


average fixed assets
=
$2,000,000
=
$307,692

6.5


4.2
=
     $2,000,000




average total assets


average total assets
=
$2,000,000
=
$476,190

4.2


Current assets
=
total assets SYMBOL 45 \f "Symbol" fixed assets



=
$476,190 SYMBOL 45 \f "Symbol" 307,692
=
$168,498
(c)
6.5
=
     $5,000,000




average fixed assets


average fixed assets
=
$5,000,000
=
$769,231

6.5


4.2
=
     $5,000,000




average total assets


average total assets
=
$5,000,000
=
$1,190,476

4.2


Current assets
=
total assets – fixed assets



=
$1,190,476 SYMBOL 45 \f "Symbol" 769,231
=
$421,245
(d)
6.5
=
     $25,000,000




average fixed assets


average fixed assets
=
$25,000,000
=
$3,846,154

6.5


4.2
=
     $25,000,000




average total assets


average total assets
=
$25,000,000
=
$5,952,381

4.2


Current assets
=
total assets SYMBOL 45 \f "Symbol" fixed assets



=
$5,952,381 SYMBOL 45 \f "Symbol" 3,846,154
=
$2,106,227
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The ratios are:


Debt ratio
=
total liabilities




  total assets


Funded debt ratio
=
funded debt




 total assets


Debt/equity ratio
=
total liabilities




  total equity

Since noninterest-bearing liabilities total $75,000, funded debt = $250,000 SYMBOL 45 \f "Symbol" 75,000 = $175,000

(a)
Total assets  =  $1,000,000


A  =  L + E


$1,000,000  =  $250,000 + E


total equity  =  $1,000,000 SYMBOL 45 \f "Symbol" 250,000  =  $750,000


so:


Debt ratio
=
  $250,000 
=
25%


$1,000,000


Funded debt ratio
=
  $175,000

=
17.5%



$1,000,000


Debt/equity ratio
=
$250,000
=
33.3%



$750,000

(b)
Total assets  =  $750,000


A  =  L + E


$750,000  =  $250,000 + E


total equity  =  $750,000 SYMBOL 45 \f "Symbol" 250,000  =  $500,000


so:


Debt ratio
=
$250,000
=
33.3%


$750,000


Funded debt ratio
=
$175,000

=
23.3%



$750,000


Debt/equity ratio
=
$250,000
=
50%



$500,000

(c)
Total assets  =  $450,000


A  =  L + E


$450,000  =  $250,000 + E


total equity  =  $450,000 SYMBOL 45 \f "Symbol" 250,000  =  $200,000


so:


Debt ratio
=
$250,000
=
55.6%


$450,000


Funded debt ratio
=
$175,000

=
38.9%



$450,000


Debt/equity ratio
=
$250,000
=
125%



$200,000

(d)
Total assets  =  $300,000


A  =  L + E


$300,000  =  $250,000 + E


total equity  =  $300,000 SYMBOL 45 \f "Symbol" 250,000  =  $50,000


so:


Debt ratio
=
$250,000
=
83.3%


$300,000


Funded debt ratio
=
$175,000

=
58.3%



$300,000


Debt/equity ratio
=
$250,000
=
500%



 $50,000
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The ratios are:


Debt ratio
=
total liabilities




  total assets


Funded debt ratio
=
funded debt




total assets

(a)
.45
=
total liabilities



  $900,000


total liabilities
=
.45($900,000)



=
$405,000
(b)
.35
=
funded debt



 $900,000


funded debt
=
.35($900,000)



=
$315,000

This is the same as "interest-bearing liabilities"

(c)
Noninterest-bearing liabilities  =  total liabilities – interest-bearing liabilities


=  $405,000 – 315,000  =  $90,000
(d)
Using the accounting equation:


A  =  L + E


$900,000  =  $405,000 + E


E  =  owners' equity
=  $900,000 – $405,000
=
$495,000


Debt/equity ratio
=
total liabilities




  total equity



=
$405,000
=
81.8%



$495,000

SOLUTION – PROBLEM 4D–21
The ratios are:


Times interest earned
=
 EBIT





interest


Cash-flow-based times interest earned
=
cash from operations




interest


Fixed charge coverage
=
               EBIT





 interest + principal(1/(1–t))

(a)
Times interest earned
=
$85,000
=
3.4 times


$25,000

(b)
Lease adjustments:


EBIT  SYMBOL 174 \f "Symbol"  $85,000 + $20,000  =  $105,000


Interest  SYMBOL 174 \f "Symbol"  $25,000 + $20,000  =  $45,000


so, now:



Times interest earned
=
$105,000
=
2.3 times



$45,000

(c)
(1)
Cash-flow-based times interest earned
=
$100,000
=
4 times



$25,000


(2)
Lease adjustments




Cash from operations  SYMBOL 174 \f "Symbol"  $100,000 + 20,000 = $120,000




Interest  SYMBOL 174 \f "Symbol"  $45,000 as in part (b)



So, now:




Cash-flow-based times interest earned
=
$120,000
=
2.7 times




$45,000

(d)
(1)
Fixed charge coverage
=
                  $85,000





$25,000 + $15,000(1/(1–.35))





=
                  $85,000





$25,000 + $15,000(1.5385)





=
        $85,000

=
$85,000




$25,000 + $23,078
$48,078





=
1.8 times

(2)
Adjusted for leases




EBITSYMBOL 174 \f "Symbol"  $105,000 as in part (b)




Interest  SYMBOL 174 \f "Symbol"  $45,000 as in part (b)



so:




Fixed charge coverage
=
                  $105,000





$45,000 + $15,000(1/(1–.35))





=
                  $105,000






$45,000 + $15,000(1.5385)





=
        $105,000

=
$105,000





$45,000 + $23,078
$68,078





=
1.5 times
SOLUTION – PROBLEM 4D–22
The ratios are:


Times interest earned
=
 EBIT





interest


Cash-flow-based times interest earned
=
cash from operations




interest


Fixed charge coverage
=
              EBIT





interest + principal(1/(1–t))

(a)
6
=
$500,000



Interest


Interest expense
=
$500,000
=
$83,333


6

(b)
To adjust for leases, lease payments are added to both EBIT and interest expense.  Let


L = lease payments, then:



4.5
=
$500,000 + L




 $83,333 + L



4.5($83,333 + L)
=
$500,000 + L



$375,000 + 4.5L
=
$500,000 + L



3.5L
=
$125,000



L
=
$125,000
=
$35,714




3.5

(c)

5
=
cash flow from operations




          $83,333



cash flow from operations
=
5( $83,333)
=
$416,665
(d)

3
=
             $500,000





$83,333 + principal(1/(1–.35))




=
             $500,000





$83,333 + principal(1.5385)



3[$83,333 + principal(1.5385)]  =  $500,000



$250,000 + principal(4.6155)  =  $500,000



principal(4.6155)  =  $250,000



principal
=
$250,000
=
$54,165





  4.6155

SOLUTION – PROBLEM 4D–23
The ratios are:


Dividend payout ratio
=
       dividends





earnings after taxes


Retention ratio
=
 earnings retained

=
1 – dividend payout ratio


earnings after taxes

(a)
Dividend payout ratio
=
    $0

=
0%


$65,000


Retention ratio
=
1 – 0%
=
100%
(b)
Dividend payout ratio
=
$10,000
=
15.4%


$65,000


Retention ratio
=
1 – 15.4%
=
84.6%
(c)
Dividend payout ratio
=
$30,000
=
46.2%


$65,000


Retention ratio
=
1 – 46.2%
=
53.8%
(d)
Dividend payout ratio
=
$50,000
=
76.9%


$65,000


Retention ratio
=
1 – 76.9%
=
23.1%
SOLUTION – PROBLEM 4D–24

Dividend payout ratio
=
       dividends





earnings after taxes


so:
dividends  =  (payout ratio) × (earnings after taxes)

(a)
dividends  =  0%($140,000)  =  $0

earnings retained  =  $140,000 – 0  =  $140,000
(b)
dividends  =  30%($140,000)  =  $42,000

earnings retained  =  $140,000 – 42,000  =  $98,000
(c)
dividends  =  65%($140,000)  =  $91,000

earnings retained  =  $140,000 – 91,000  =  $49,000
(d)
dividends  =  100%($140,000)  =  $140,000

earnings retained  =  $140,000 – 140,000  =  $0
SOLUTION – PROBLEM 4D–25
The ratios are:


Price/earnings ratio
=
     stock price




earnings per share


Market/book ratio
=
       stock price




book value per share

Earnings per share
=
$3,500,000
=
$3.50





 1,000,000

Book value per share:


A  =  L + E


$2,000,000  =  $1,200,000 + E


total equity  =  $2,000,000 – $1,200,000  =  $800,000

so:


Book value/share
=
 $800,000
=
$0.80






1,000,000

(a)
Stock price  =  $10.00

Price/earnings ratio
=
$10.00
=
2.9 times



 $3.50


Market/book ratio
=
$10.00
=
12.5 times



 $0.80

(b)
Stock price  =  $25.00

Price/earnings ratio
=
$25.00
=
7.1 times



 $3.50


Market/book ratio
=
$25.00
=
31.3 times



 $0.80

(c)
Stock price  =  $40.00

Price/earnings ratio
=
$40.00
=
11.4 times



 $3.50


Market/book ratio
=
$40.00
=
50 times



 $0.80

(d)
Stock price  =  $75.00

Price/earnings ratio
=
$75.00
=
21.4 times



 $3.50


Market/book ratio
=
$75.00
=
93.8 times



 $0.80

SOLUTION – PROBLEM 4D–26

Price/earnings ratio
=
     stock price




earnings per share


Earnings per share
=
$300,000
=
$3.00


 100,000

(a)
5
=
stock price



$3.00


Stock price
=
5($3.00)
=
$15.00
(b)
12
=
stock price



$3.00


Stock price
=
12($3.00)
=
$36.00
(c)
20
=
stock price



$3.00


Stock price
=
20($3.00)
=
$60.00
(d)
35
=
stock price



$3.00


Stock price
=
35($3.00)
=
$105.00

